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Part | Testing Skills

KFERIERIEM RIS
(How to Use the SKills for Reading Tests)

REFYGOE = PR AR R DU R RS, 1M T2, A & U B
IS A APIEIC RSO PR Sl iz PR AR A R IR S, SCE A E
S AR, AR A A RO IS0 GRS . F R KRB o B
4077 R HEFERR 5 SUS R AEE WS S GRS TR, H A A TS
AR TR SO TR R T PSS U U A B SR 2 A A
AR S TR A £ LA 52 G2 R R URE AR AT 4 BRI A S S i R A
REFEHFAE T 5 PA8E rh PR 7 A1 S, 47 o 3 3G 02 15 HE P I U 1 2 16 R s Y
He— AR 7R S S EEFIILA

AR, AR 25 28 R A 2 1) 77 =0, 5 L3k ), T 365 B 44 380 i A AL
A, X fife 80 ] A B AR H S SR A A

—. BEAA AT
PR B A2 R AY TR SR AR TS, e I R

1. FHH
F BRI A X A B AR (B O 2 s AR R R

e, S B P I WA R 2 — FE X = R E P ILFRRE A XK
AR E R E P TR, B E P the main idea, the theme, the topic i
i), LR A A

The main idea of this passage is ***

—— The best title for this passage is -

—— What is the main topic of this passage?

— Which of the following best states the theme of the passage?

—— This article is mainly about ---
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The government of India encourages married men anspzvomen to be stenllzed so they
cannot have more children. In China, families can be punished for having more than one
child. Both of these countries have very large populations, and if the number of people con-
tinues to increase, there will not be enough food, houses, or jobs for the people. As a re-
sult, India, China, and other populous countries are following a family-planning policy——
they want families to limit the number of children they will have. Teachers, doctors, and
social workers are explaining to the people why they should have fewer children by using
birth control methods such as contraception and sterilization.

Which statement best expresses the main idea of the paragraph?

[A] Some populous countries are following a family-planning policy .

[B] India and China have very large populations.

[C] The government of India encourages sterilization.

[D] In China, families can be punished for having more than one child.

ABAETRR N TEHEN HEARM K EZ L& T ReMBE T ANZ
M Ja R A I T BR i E8A) BN A E AT A — 28 A O AR 1 E HKAER
BHEAT IR A ORI Z 5, AREEA 40 T i AN Al 2 R R
WA TR, R B, C A D RUESCEEFTHE R A 404, B R AR A T
(o MEI A“—2 A\ ARZ B E S IETEHEFT TR AE FHOR” , IE4F A A 0
AL I A ZIEFER.

2. 4T

BT HER SR O B, S HRESHA SR O B AR R R A, |
I, EEF LA HLARAEMNESRZ— @H, LEPSHRABEDHHEL
AT, %4 R S 0B A XM EZEANE . [, B4R NF6eE CE
RENEI AP (who) FE-14 (what) (B [8] (when) 1,55, (where) | J& [H (why) LA S Z 3% (how
many or how much) % X FiX A1, R0 E 25 HLEH 2 $2 {1t 25 5K (facts) Al
A5 (details) , B G200 € AE SCEE IR BTG N o 25 A8 0 48 S0 w4 D BB R4
Y809 4 SR B, A REM B IR R E AR, AN REAE H B A IR SR R R, 4T
L RIHR I 7 A

—— What is the purpose of***7

—— Why is (was) it necessary for somebody (not) to do something?

—— Where is (was)+*located?

How did something happen?

ik ST AR X5 AR, R (AR ) SR, I AR AR
5%

1) 5B X E G AR, i GRS, i AWy (8] S455 , SRR B — L H
& ety BRBEA ) BUR B X H A B2 a1 , T ()& B8 S, A UK o
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2) & L BESC %, BRI L 5 B, W7E T R £, [Faf R4
WS AR R, {8 T RUSR PRodi A Xt o

3) EIFESCHRILIR T (A SCARHAT) 1915 B AR B b B SR i A 15 B S
BT JFESE B I A AT B R ERE R

il 4n - (BEEH30)

Cattle have served humanity since prehistoric days as beasts of burden and as suppliers
of leather, meat, and milk. Some of the earliest written records concern the sale of cattle.
These valuable animals are unusual in that they do not have front teeth in their upper jaw.
Instead they chew with their rear teeth and gums. Cows swallow their food quickly and store
it in the paunch or rumen , the first of the four compartments in their stomachs (1A). Later
the food passes into the second stomach(2) or reticulum where it is rolled into little balls or
cuds (2D) . While resting, cow cough up these cuds and chew them more thoroughly. This
time the food passes into the third and then into the fourth stomach, where digestion takes
place. Bacteria(4) in cows’ stomachs aid (4) in digesting the cellulose (4C) in stems of
grass or hay.

Over one hundred million heads of cattle are raised in the United States. Dairy cattle
produce more than fifteen and one-half billion gallons of milk every year. Although dairy
cattle are bred primarily to produce milk (3D), about half the beef used in the United States
comes form dairy breeds. This is because when dry (no longer producing milk) they fatten
quickly and produce highquality beef.

1) According to the passage, what is the rumen?
[ A] The first stomach compartment.
[ B] The name of the upper jaw.
[ C] The stomach where digestion takes place.
[D] The name of the bacteria in the cow’s stomach.
2) What is the primary use of the cow’s second stomach?
[A] Food storage. [ C] Digestion.
[B] The production of milk. [D] The creation of the cuds.
3) According to the passage, why do Americans breed dairy cattle?
[A] They breed dairy cattle to produce beef
[ B] They breed dairy cattle to provide income
[C] They breed dairy cattle to provide leather
[D] They breed dairy cattle to produce milk
4) Which of the following is essential in the digestion of cellulose in the cow’s stomach?
[A] Cud [B] Reticulum [ C] Bacteria [D] Grass
A A DA [ B, Ff R TR AT



Step A: JCECEJFHYE B , Bk A a] ool o AR 1180 B DY A B 0 4 P4 2 W]
FWr i -

(I 1. Fla] i 2“4t 4 JZ rumen?”

[ 2. &lalHCoh “ 4158 — B I EE AR A7

[ 3. KL I AW FR 42"

)il 4. KOG BIEHEY AR 27

Step B: iy & 18] ol B a5 S 5 30 o 243 rumen 73X AN RIS, 26 E R
K2R, J5 1 B 1R)ZH “ the first of the four compartments in their stomachs” , 1F & “rumen” i)
fifede , AR H T R th 0135 FIe £ 001, FRIAER RS = 5= 58y
L &[] H 0 < “second stomach”, “dairy cattle are bred”, “digesting the cellulose” , il
EATHIAH A B : “rolled into balls or cuds”, “primarily to produce milk,” “bacteria in
cows’ stomachs aid” . ‘

Step C: TEJF3CHP R mI&UA (0] o0 B A AF B Z )5, e 5 18T i 1Y)
B— IR —XF B, S E AT A% 1A 2D; 3D; 4C 35N IEMR R .

3. HfEHRE

FHEF RIS ] 132 PR P LB R, 0 R A R AR I — AR, HERE IR
A B PR SO R P 4R A5 ., a2 W U SR HEA T HE B S | H, BRI A
WL, FIRE R B S BB R Y A B . 3 B T 3% S0, IR RE 21 IR
ZIMFEAEF B S35 B ISR TR AL

It can be inferred from the passage that---

— The writer implies that---

— The author apparently suggests that ---

— Where would this paragraph most probably appear?

— The purpose of this passage is ***

— It can be concluded from the passage that -

FEASUE WSS , 25 A DA Z0UABCE) - 1) PR SC 58 57 TR 55 2) 7 1 ) 19 & 88 8 00
3) i ZI$EME B O A s HE W T 4 s 4) B SCE B 2R N B 217 HE
H Az SR PR R X '

HHEPLET 1925 S8 AN RE 4 AR SO R R 3, 25 A 0 20 LA SO 5 1T SORTITER , LA
HARS SO (M, A HED AR HAY M ——HE R AS R . FA VIR A EE
58, B MIEE, 8 A C AR S EVEE A . '

FHE PSR A [] 0 4 B A0, W] 23 D B X SR RSO A0 Y A HE T s £ 3 8UE
A M T PO HEIRT 5 B 08 3 JE I A BT 5 00 4 3 25 8 LT R0 MR HE T 55
PATR 25 A5 I LATE B -

B 1. A SCEE R SRS A 4T (L2 S0
It is all very well to blame traffic jams, the cost of petrol and the quick pace of modem
. 4 .




life, but manners on the roads are becoming horrible. Everybody knows that the nicest men
become monsters behind the wheel. It is all very well, again to have a tiger in the tank, but
to have one in the driver’s seat is another matter altogether. You might tolerate the odd
road-hog, the rude and inconsiderate driver, but nowadays the well-mannered motorist is the
exception to the rule. Perhaps the situation calls for a “Be Kind to Other Driver” campaign,
otherwise it may get completely out of hand.

The sentence “ You might tolerate the odd road-hog - the rule.” implies that

[ A] our society is unjust towards well-mannered motorists
[ B] rude drivers can be met only occasionally
[C] the well-mannered motorist cannot tolerate the road-hog
[ D] nowadays impolite drivers constitute the majority of motorists
AR SR A A 7 5 DY A SR A B S B RO SE R B HEWTR B S 52, AT
AT AR BER AR & 3F 19 mIAL, {H 24 KARLET J BT /Y = LA il A0 22 38
R, ARYE B TR R 6905 8., 78 A T AHENT , RBLGF 1) A HLANE 35 /Y =] HLAK i
OSSR , BT LA RT LA A4 RIHLIE 2 ZE AT A ARALER . A TR -5 30 g
ZEIKFR,BH CHPHRNA IEHFS5E SO . BT UERERZ Do
1 2. R SCE R AR T A HERT (B S0
In the English educational system, students take three very important examinations,
the first is the eleven-plus, which is taken at the age of eleven or a little past. At one time
the ability or aptitude shown on the eleven-plus would have determined if a child stayed in
school. Now, however, all children continue in “comprehensive” schools, all the eleven-
plus determines which courses of study the child will follow. At the age of fifteen or sixteen,
the students are tested for Originary Level of the General Certificate of Education. This ex-
amination covers a wide range of subjects; once students have passed this exam, they are
allowed to specialize, so that two-thirds or more of their courses will be in'physics, chemis-
try, classical languages, or whatever they wish to study at great length. The final examina-
tion, at eighteen, covers only the content of the special subjects. Even at the universities,
students study, only in their concentrated area and very few students ever venture outside
that subject again. In a real sense, the English boy or girl is a specialist from the age of fif-
teen.
1) The purpose of this passage is to
[ A] show why most English students are “specialists”
[ B] show the superiority of the English educational system
[ C] discuss the inequalities of the English educational system
[D] describe the three tests that the English educational system is based on



2) We may conclude from the passage that
[A] the exam that is taken at the age of eighteen is easier than the other two exams
[ B] failure on the eleven-plus exam excludes a student from further schooling
[ C] higher education is much narrower in scope in England than In America
[D] physics and chemistry are too most popular courses of study
- 3) The passage suggests that
[ A] most people in England are college educated
[ B] schooling is very closely controlled in England
[C] the failure rate on eleven-plus exam is quite high
[ D] England’s structured educational system had reduced the illiteracy rate in that coun-
try dramatically

[ARR 1) AR p) R CEN HE, W RIEEN SR, F4A—B#E T (HE
O BAR, SAREE B i E SCER H Y . SCE S — ) TR A) 5 FE 3 CEIIE
MAE EREHEHET, FANESM=ATESRK, EFEAFROAE
B BT QMR HATRKAEE REXRNTBREHFEH T =
TP, 0 G P A I B0 TR H X 3 A i) BE A S AL S BE, B A4 XX
M H RN H=FFK, D AEMREERE.

[/ 2) . ABURESIEHERTEL , EORF AERE LT AT/ 14508, BEAE
BB ) A R R A9(E B o TEALBX S HEWT BT , L0500 B $2 44t i) 2L 190
LAEBSE , IER B 2 )5 , HEBR A S A 5 S sl PR L Bl S0 Hr i it
HME BAFRRT BRI, X G /NE L, S RE 0 s HEFARK IS

B T ik WA 5 R 3CH = A A G (BEAR SE 2756 C TN A TE R P ok #
Lo D IR A5 5 A 58 AAF, SCHH 5] “ Yy 2 AL BT TR RS AR
B R R AR, AT R A5 B R TCIAHENT X A TR R A
SR PRFEMMIT . HEBR B.C.DJE, HARRE A RIEFREER,

()R 3) . AREUZEH X 8 B SCE PEATHER . SO R RS [ E A S I =Kk
i, B G RPE AT, Irie B lk. 35— Hr B A sl i - Bok
S RE A B — SR, AR R — Rl i 2 AR R 1 — R Tk,
Pt B JEME— 95

VER M SERE AT LAZ R ZFE, A n] LK —Ftt S B4, v LG ie — 4 0
A, AT LA T3, o] LAS | A Be 3 RS 055558 . (NI, 1R B3, 5 A D AR 48
SCEE A R ARIEAE A )3 A A0S AL, e B EE R

4. i G

VB SO IR € 7% A 74 /€ 1918 5 PR35 i € AR TR sl R B Y RE T . 3X
SRR WL A B 1) 77 3A

— The word “***’ means

. 6 .



—— The line ‘***’ means---

— The expression (word) ‘*--’ in the---sentence refers to -*-
—— In line ‘---’, what does it refer to?
——Which of the following is the phrase ‘:+-” in line‘--’ closest in meaning?

il IX S RIUNE 2% Az 1o 5 48 P AR 32 B 0 3k« A T SRS I 3] SC 5 A R A R) 325
3 3o

A. A BRSO R L

AT SCER AR S 7 I 1) SCA 1 A TR

DARHE E SO R I i S il .

a. A bird sanctary is a place where birds can take refuge from hunters.

M) 945 B AT AW sanctuary” 2 —4> 157, SRR A 2 2 B A A
M . P ATHE ) sanctuary” TR i XE BT S0k MfEHD .

b. This man thought he was omniscient, that is, he felt he knew everything.

MJ5—%] “he felt he knew everything” 7] LAF ) : ‘ omniscient’ 5&  TCIT AN HIZ " 1Y)
R

2)MRYEE RS 1A o FE Ak R 2 X A 0 — ) 5 A — R sl R SR A BRI
XA E AR A A A TR B R S AR TR A T S il

We can’t put up with the chairman’s arbitrariness. He often makes decisions without
consulting other members of the committee.

5 “ arbitrariness” 4= 7] , {H W T HE A A AT AE MDA B RO UL (BT .

BVMRIEHRAGT BHG IR S A, e rT A LT SO K 0E B P IRERAD
R RSB RIS . Bl ' ‘

John’s father often gets angry at his laziness. But this time he flew into a rage when he
was told about John’ mishehaviors at school.

MR R SOMSRAE B A550 : 2980 A0k X 2958 A it o B AR <L H B IR,
24 b Wy Bt L FAEFALAY AT K (misbehaviors) B, FRATTAS MR i fth A 3% © & &%
77 (flew into a rage) o

4)ARIEZE BRI Lo BN

His hobby is reading periodicals, such as Time Magazine, Newsweek, Reader’s Di-
gest, etc. '
R A K11 © periodical” 13X 1~ 1), 12 AT fH H J5 A9 “ such as--+ " 18 H H & R
7B RE .

5)ARYERS o ZR A T3] SC o 13538 Al A D SCE ) B (6 1 9 X Ll 2R 3k 12 3K
A F I LIS R . Bl

Nowadays some young people are not thrifty, since they often waste money.

XHAYRFLE” 48 A2 A E P A FE RS B RS B R R . X R B

.7 .



XFarCERC AR g e AR AL T RIWTHT R A A AR B AR, A
JEFPRIE N B BAE R N IR AR B4 £ A Y “are not thrifty’ 15 %€
AT T,
B. i A4 i) i A i i)
BB i) — i PR A AL, RIR) T AR &, R XAl A ETB AR . A
s i) A By AT AR Ry ST A (R TS 2 ) 0 el ) BRI R A . e TR
5in GER S A& — & 19iE XA T 5R%H S , i sos i Lo #lan.
1)1 T patient (JEZ51A] : L)
JNATZE : impatient (JEZ 7] : ATt )
PG4 : impatiently (78] : ASTR 03B )
2)i T : state (B : BRik, 75 H])
ﬁﬂﬁﬁ%: restate (%ﬂiﬂi,ﬁqﬂ)
HINE2: restatement (4417 : FHT FRid)
MUA_E B F AT ) mT SR fE el As T JRR i) SCEGTR P . R SR iR A
I, REHS Bl AR B R A I 3R] S, ol
a. apathy ( =a+ path +y)
WIRHERTE o TR A VWA ZEGR Yy AAWER, Fmi%if 4
o TR path’ OFEAS F SUIE JEAE (feeling) , 12 18] B 1) SC U AS MESF I, O R “ ¥%
75 (without feeling) o
[FIRE -
antipathy( = anti + path + y)
RO “anti-" BN R, RO B AT R 5 55 % B B (against feel-
ing) o
b. Certain chemical from the rain softens the hard rock.
WIS HE -en’ N3N E 4L, 3 A Fom 8l A Z &, (E AT S5 H “ soften” 4y
A, B L.
PEPAFHANERLERE A BT O A s ¥, FAENIE
ZACHE— [T 5 5 A LR S, DME i B AT 5 22 55 X i) S o
5. EE WA S OB,
X A B A 1 3 A O 5 Y 0 BB 5 HE T L A B AEAUE BT R R —
B U A IE R S BEFR H LA SRR -
— The author’s attitude toward:--can best be described as -
— The tone of the writer is -*-
— The author believes:-*
— The mood of this passage is -**
According to the author, ---
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YEF A THESCEE PR 7R B O AR A BE RIS 35 W, 8 9 3l 2o 3 1) 18 /) R
SCEL DR, B R VA AR S R AL, B A T B B R A
B CE PR A R I S BE R B R A) 5

R ERAAEE WA, B RS TGFE A RMWA AR,

L AT ARIUESHIE B T 4] F o Bilan

I work from nine to five, six days a week. (FF3L)

AN RERTUESE AR AIE A 98] 7, BB — D A AW M E WA 2. 1
FAEEE PR B O AW s R Bt & B A R BE RS o Bilan .

Bill is nicer than George. (Wi 5)

XA E A VR L] PR S (BRI IER BN R LM S A BT
FRATTFRA BT BE A SCEE AT B IR TOI MR A0 o T T A RERY 3 A A T 132
T REIES X W 5 45

— Which of the following statements is the author’s point of view?

——Which of the following opinions might the author agree with according to the pas-

sage?

WA DA e Y () A eI -

Which of the following statements is the author’s point of view?

[A] Getting from Ecuador to New York requires enough money that it is really luxury

of the middle class.

[B] But over the years, most of our relatives had come to New York.

[C] Our one try at making our status legal, two year’s ago, ended with disaster.

[D] She was a lab technician, I work in a government office.

RPN LA A . PO A B B R Z /R B4 247 E AR
L B RO LR — R H . HAR =T R HE,

TEHER TN FLEMWAR , B — 2P ) E R T A H WA S
— e B R Rl 1324 30, FE 4R U AR T S, A RE O MUH IR P L
mo YEETERRE B CROWL R, A i B4 7 2, (H S 2 A mh e WA 215 A/
MRRER B C ML IHMEE ., B, FoA17E 80 E 1F & Wi, 0K T Uik
FBERIT

Bilan : (BB 30)

The traditional belief that a woman’s place is in the home and that a woman ought not
to go out to work can hardly be reasonably maintained in present conditions. It is said that it
is a woman’s task to care for the children, but families today tend to be small and with a
year or two between children. Thus a woman’s whole period of child bearing may occur
within five years. Furthermore, with compulsory education from the age of five or six, her

role as chief educator of her children soon ceases. Thus even if we agree, that a woman
. 9 .



should stay at home to look after her children before they are of school age, for many wom-
en, this period would extend only for about ten years.

According to the author,

[A] the right place for all women, married or not, is the home, not elsewhere

[B] all married women should have some occupation outside the home

[C] a married woman should give first priority ({f;G4X) to her duties as a mother

[D] it is desirable for uneducated married women to stay at home and take care of the

family

AEEEEE ML, EXFEP AFERA AEKE B C X AL E
e XEF AN, A RIAL AL G A, 1E HATIE # T R MER S E T
e F“1t is said that-- "G AR AL, HSEERZ, XEABFT5] M
NEHAREERERE, MREANC 2 EEEZOWR . 1FE WSS SR
TR E T . %A BRI but SRS T — RN F L, X LRI A E
YEF R R SRHE TG, 1EF B2 T — Syl Bl A A it [a] A &/ AFHH AT
Ve : oAU E e )/ N AL, FF B A RO (R BRI ] 4 — 2 —4F , XA iAo 4
BETFHENOFAR A, BEZ T L EANS WA NE, 856 R #
T ELHEHOEABRPIE . Fi, BERNTRE AL EEZF B/ LI
RLZARAEZ BT A3 , 355 E X T 2 0 2R U, 78 2 BEORHE 7 /9 B+ (8] {2
LA, HEZE, WHRRALELETFREET HFREEATMUE AT
B, MAR—EFRELR P WIGX LR, FLATAT LLAWAEF AN AL, g
G5 S AN AR TR . PRI B O 8 40 20  24 AE S T 2 fin 28 T
YE" HIEFE R |

BEAh , EPRTESCE L A8 75 VR & SR AL 3 L, BRI , 501 S8 19 26 3
(tone) , Xf FHEWTVE & WS+ EE . SCH I E I — i i 7 2 i) 1 A oK
Tiko BEANSRE BT RSO (R (ERSE A E R B9, X R R
PR EE R AIRERA ok . A ARERIRE , SO 1 X S 8
HEMSEIRE, P XENERRZXEATN—DER T 0, EIHASCENE
A, BERE T MREE WS LR RS . X ER B B I 2 R T AT A
PR B B, T B AR TRNE A 1, I BB K T HERT

T — BOE SO SR A T2 - (BGES0)

We Americans are wasteful people, not used to saving. The frontiers men began this
pattern, for nature’s resources were so plentiful that no one ever imagined a shortage. With-
in a few years of the first Virginia settlement, for example, pioneers bumed down their
houses when they were ready to move west. They wanted to have the nails for future use. No
one even gave a thought to the priceless hard woods that went up in smoke. As a people we
destroy many things that other people save. I noticed this when I was living in England. I
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received a letter from one of England’s largest banks. It was enclosed in a used envelope
that had been readdressed to me. Such a practice would be unthinkable in the United
States. American banks, even the smallest, always use expensive stationery with the names
of all twenty-eight vice-presidents listed on one side of the page.
1) The overall tone which emerges from the author’s view of America is
[A] scolding and critical
[B] proud and patriotic
[ C] sentimental and exaggerated
[D] humorous and straightforward
2) The author’s account of the English bank sending a letter in a used envelope creates a
tone of ’
[A] comedy [B] disgust [C] approval [ D] wonderment
3) In the last sentence, the author is being
[A] poetic, but not very original
[B] factual to the point of being scientific
[ C] Sarcastic through the use of exaggeration
[ D] inviting but unclear in his intended meaning
[a] & 1) : MWICEH Tt F i © wasterful people’, ‘we d(:‘:stmy’ , ‘no one ever gave a
thought” , “no one ever imagined a shortage’ 55— Z 5118 A1)k F , E# X = H SR &
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AN R HIUESE o
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A rapid means of long-distance transportation became a necessity for the United States as
settlement (FT¥hJEHL) spread ever farther westward (5C). The early trains were impracti-
cal curiosities, and for a long time the railroad companies met with troublesome mechanical
problems. The most serious ones were the construction of rails able to bear the load, and
the development of a safe, effective stopping system(1A) . Once these were solved, the rail-
road was established as the best means of land transportation. By 1860 there were thousands
of miles of railroads crossing the eastern mountain ranges and reaching westward to the Mis-
sissippi. There were also regional southem and western lines.

The high point in railroad building came with the construction of the first transcontinen-
tal system. In 1862 Congress authorized two western railroad companies to build lines from
Nebraska westward and from California eastward to a meeting point, so as to complete a
transcontinental crossing linking the Atlantic seaboard with the Pacific. The Government
helpéd the railroads generously with money and land. Actual work on this project began four
years later (4D) . The Central Pacific Company, starting from California, used Chinese Ja-
bor, while the Union Pacific employed crews of Irish labourers. The two groups worked at
remarkable speed, each trying to cover a greater distance than the other. In 1869 they met
at a place called Promontory in what is now the state of Utah. Many visitors came there for
the great occasion. There were joyous celebrations all over the country, with parades and
the ringing of church bells to honor the great achievement.

The railroad was very important in encouraging westward movement. (2A) It also
helped build up industry and farming by moving raw materials and by distributing products
rapidly to distant markets(3B) . In linking towns and people to ore another it helped unify
the United States.

1) The major problems with America’s railroad system in the mid 19th century lay in

[A] poor quality rails and unreliable stopping systems
[B] lack of financial support for development
[C] limited railroad lines
[D] lack of a transcontinental railroad
2) The building of the first transcontinental system
[ A] brought about a rapid growth of industry and farming in the west
[B] attracted many visitors to the construction sites
[C] attracted labourers from Europe
. ]2 .



